
Assembly Instructions

Fixperts project
By

Doron Azulay | Gil  Zygman



Step 1

side panel X2 front panel X1 bottom panel X1

 Glue the side panels to the bottom panel, then glue
the front panel to the side panels



Step 2

bracket X4 screw M4
16mm X8 

 Screw the brackets to the front and side panel in
order to  strengthen the connections



Step 3

Disk holder cover X9 Disk holder X9  screw M4
16mm X18

 Screw the disk holder to the preparation holes in
the front panel and then cover them



Step 4

Shelf screw M4
16mm X2 

Connect the screws to the front panel in its central 
bottom part, leave their head protruded

 Thread the shelf on the screws' head



Step 5

Rear broomstick X1 Broomstick cap X2

Close the rear stick with the caps and place it in the 
back of the device



Step 6

Magnet X1 Disk catcher X1 Broomstick X1Screw M4
16mm X1 

Thread the disk catcher in the middle of the stick 
and set it with a screw at the top, glue the magnet to 

the bottom of the catcher



Step 7

Disk X8

Put the disks in their place



Step 8

Weight X6

Put the weights in the front part of the device, and 
the spare weights in the back



Step 9

Weight stopper X2

Set the weights from both sides with the weight 
stopper clips for the safety of the user



Step 10

Cards X12

Put the playing cards in the shelf



Done


